Mathematics Revision: Units

1. Complete these statements:

1000 mm = m. 1430 mm = m.
3000 mm = m. 4290 mm = m.
5000 mm = m. 4920 mm = m.
6000 mm = m. 4130 mm = m.
7000 mm = m. 10m= mm.
10000 mm = m. 30m= mm.
1500 mm = m. 100 m = mm.
3500 mm = m. 300 m = mm.
5500 mm = m. 105m = mm.
6500 mm = m. 305m = mm.
7500 mm = m. 104 m = mm.
9500 mm = m. 320m = mm.
10500 mm = m. 18 m= mm.
12500 mm = m. 3854 mm = m.
5700 mm = m. 1423 mm = m.
3600 mm = m. 30.2m= mm.
1200 mm = m. 1045 mm = m.
3400 mm = m. 5.05m = mm.
1300 mm = m. 6475 mm = m.
9400 mm = m. 2.185m= mm.
7200 mm = m. 123 m= mm.
9900 mm = m. 3074 mm = m.
15500 mm = m. 10.7m= mm.
32500 mm = m. 3823 mm = m.
1140 mm = m. 1.254 m = mm.
3140 mm = m. 9653 mm = m.
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2. 1000 cm?volume= 1 litre in capacity.
What is the capacity of the following:

1500 cm?® = litre.
2500 cm3 = litre.
3500 cm?® = litre.
4500 cm? = litre.
5050 cm? = litre.
5060 cm? = litre.
5070 cm?® = litre.

cm?3 = 5.65 litres.

5090 cm3 = litre.
3500 cm3 = litre.
4500 cm3 = litre.

cm?® = 8.4 litres.

9500 cm3 = litre.
6050 cm® = litre.
7060 cm® = litre.
9070 cm? = litre.

cm?3 = 3 litres.

6090 cm3 = litre.

WWW.ACHILDSGUIDETO.COM 2



